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ASME PTC 10
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kPa bar atm mHO mmHg inchHg PSI

1 kPa = 1 0,01 0,00986 0,10197 7,50061 0,29528 0,14503

1bar = 100 1 0,98692 10,1971 750,061 29,5287 14,5048

latm=| 101,325 1,01325 1 10,3322 760 29,92 14,696
1mHO=| 9,80665 0,09806 0,09678 1 73,5559 2,89578 1,42233
1 mmHg = 0,133 0,00133 0,00131 0,01359 1 0,03936 0,01933

linchHg= | 3,38653 0,03386 0,03342 0,34533 254 1 0,49117
1PSI=| 6,89473 0,06894 0,06804 0,70306 51,7147 2,03592 1
CFM x 1,699 = M3/h KW x 1,341 = HP
M3/h x 0,588 = CFM HP x 0,745 = KW
(9/5xC°) + 32
5/9 (F°-32)
Nms/hr 1.01325 bar(14.7PSI1),0 (32 ),
me/hr
SCFM 14.7PSI 1.01325 bar 68 (20 ) 36%
ICFM
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